

Vendor Ranking							Page 1 of 1
Letting:	08210511	May 11, 2021 02:30 PM	Call Order:	: 001	Contract:	E8T13-R0	
District:	Turnpike			BROWARD, MIAMI-DADE,			
Contract Time:	365 CALEN	DAR DAYS		PALM BEACH, TURNPIKE	Project(s):	40585037202 (*	*)
Contract Desc:	PAVEMENT	MARKINGS - ZONE 1					

Ran	k Vendor	Bid Type	Bid Status	Total Bid	Percent Of Low Bid	
1	TRP CONSTRUCTION GROUP, LLC	Responsive	Winning bid	\$357,990.00	100.00% Intent to A	\WARD
2	P & P STRIPING LLC	Responsive	Non-Winning Bid	\$403,225.00	112.64%	
3	OGLESBY CONSTRUCTION, INC.	Responsive	Non-Winning Bid	\$422,900.00	118.13%	
4	ROAD RUNNER STRIPING TECHNOLOGIES INC.	Responsive	Non-Winning Bid	\$434,650.00	121.41%	
5	AKCA, LLC	Responsive	Non-Winning Bid	\$557,000.00	155.59%	
6	MCSHEA CONTRACTING, LLC	Responsive	Non-Winning Bid	\$667,500.00	186.46%	

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.

POSTING DATE AND TIME: MAY 25, 2021 4:00 PM



Tabulation of Bids

Page 1 of 7

Letting:	08210511	May 11, 2021	Call Order:	001	Contract:	E8T13-R0
District:	Turnpike		Counties:	BROWARD, MIAMI-	Fed Aid No	: N/A
Contract Time:	365 CALEND	AR DAYS		DADE, PALM BEACH,	Project(s):	40585037202 (*)
				TURNPIKE		

Contract Descr: PAVEMENT MARKINGS - ZONE 1

The work specified in this contract consists of providing all labor, materials, equipment and incidentals necessary to provide thermoplastic pavement markings at various locations on Homestead Extension of Florida's Turnpike (SR 821), Milepost (MP) 0.0 to 46.5; Florida's Turnpike (SR 91), MP 0.0X to 100.0, and Sawgrass Expressway (SR 869), MP 0.0 to 22.5.

Prior to beginning work under this Contract, the Contractor shall submit to the Engineer for approval, two copies of the Contractor's proposed plan and methods for performing the work, including a listing of equipment and personnel anticipated for use.

No U-turns shall be permitted as a condition of this Contract, except at Service Plazas.

The Contractor shall perform all work night hours in accordance with the Turnpike Lane Closure Policy.

Night work shall be performed between the hours of 9:00 PM to 5:00 AM, Monday through 5:00 AM Friday.

NO PRE-BID CONFERENCE WILL BE HELD FOR THIS PROJECT.

CONTRACTOR EXPERIENCE DOCUMENTATION: Expertise and Experience is required in the performance of Pavement Markings. The Experience in Pavement Markings form (850-070-06) must be filled out and submitted with the bid to be reviewed by the Department. If a Contractor is presently prequalified with the Department in pavement marking, it is not necessary to submit the form.

Line No / Item ID Alternate Quantity Item Description Units	(1) TRP CONSTRUCTION GROUP, LLC	(2) P & P STRIPING LLC	(3) OGLESBY CONSTRUCTION, INC.
() indicates item is bid as Lump Sum	Unit Price Ext Amount	Unit Price Ext Amount	Unit Price Ext Amount
SECTION: 0001 (PAVEMENT	STRIPING (LARGE MACHINE) (LM		
00050710 1133110.000PAINTED PAVEMENT MARKINGS, STANDARD,BLACK, SKIP, 6"GM	600.00000 6,000.00	650.00000 6,500.00	350.00000 3,500.00
0010 0711 11102 0.500 THERMOPLASTIC, STANDARD, WHITE, GM SOLID, 8" FOR INTERCHANGE AND URBAN ISLAND	4,300.00000 2,150.00	6,500.00000 3,250.00	8,900.00000 4,450.00



05/25/2021

Tabulation of Bids

Page 2 of 7

Letting:	08210511	May 11, 2021	Cal	II Order: 001		Contract:	E8T13-R0	
Line No / I Item Desc		e Quantity Units	(1) TRP CON GROUF		(2) P & P STF	RIPING LLC	(3) OG CONSTRUC	LESBY CTION, INC.
() indicates	item is bid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SEC	CTION: 0001	(PAVEMENT S	TRIPING (LARGE	MACHINE) (LM				
THERMOPLA	I 11123 STIC, STANDARD, WH OR CROSSWALK AND JT	500.000 IITE, LF	2.50000	1,250.00	3.25000	1,625.00	3.00000	1,500.00
0020 0711	11124	2,000.000	4.00000	8,000.00	4.75000	9,500.00	4.00000	8,000.00
	STIC, STANDARD, WH OR DIAGONALS AND	IITE, LF						
0025 0711	11125	200.000	5.50000	1,100.00	6.00000	1,200.00	6.00000	1,200.00
	STIC, STANDARD, WH OR STOP LINE AND (IITE, LF						
0030 0711	11160	30.000	110.00000	3,300.00	140.00000	4,200.00	150.00000	4,500.00
THERMOPLA MESSAGE OI	STIC, STANDARD, WH R SYMBOL	IITE, EA						
0035 0711	I 11170	40.000	68.00000	2,720.00	85.00000	3,400.00	70.00000	2,800.00
THERMOPLA ARROW	STIC, STANDARD, WH	IITE, EA						
THERMOPLA WHITE WITH	I 14560 STIC, PREFORMED, BLACK CONTRAST OF PAVEMENT, MESSAGE		800.00000	8,000.00	500.00000	5,000.00	500.00000	5,000.00
THERMOPLA	I 15101 STIC, STANDARD-OPE PHALT SURFACES WH		3,300.00000	99,000.00	4,100.00000	123,000.00	4,375.00000	131,250.00



Tabulation of Bids

Page 3 of 7

Letting:	08210511	May 11, 2021	Cal	I Order: 001		Contract:	E8T13-R0	
Line No / Ite Item Descri		e Quantity Units	(1) TRP CON GROUF		(2) P & P STI			LESBY CTION, INC.
() indicates in	em is bid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SEC	TION: 0001	(PAVEMENT S	TRIPING (LARGE	MACHINE) (LM				
GRADED ASPI	15131 TIC, STANDARD-OPE HALT SURFACES, WH SKIP OR 3-9 LANE DI	HITE,	1,150.00000	92,000.00	1,150.00000	92,000.00	1,300.00000	104,000.00
	TIC, STANDARD-OPE HALT SURFACES,	30.000 EN GM	3,300.00000	99,000.00	3,900.00000	117,000.00	4,300.00000	129,000.00
	TIC, STANDARD-OPE HALT SURFACES,	2.000 EN GM	1,000.00000	2,000.00	1,400.00000	2,800.00	1,000.00000	2,000.00
THERMOPLAS	17 1 TIC, REMOVE EXIST TIC PAVEMENT JRFACE TO REMAIN		1.47000	1,470.00	1.75000	1,750.00	1.70000	1,700.00
0070 E102 OFF-DUTY LAV OFFICER	10 W ENFORCEMENT	320.000 MH	100.00000	32,000.00	100.00000	32,000.00	75.00000	24,000.00
	EMENT STRIPING S E MACHINE) (LM)	ection Totals:		\$357,990.00		\$403,225.00		\$422,900.00

\$403,225.00

422,900.00



05/25/2021

Tabulation of Bids

Page 4 of 7

Letting	g: 082105	11 May	11, 2021	Cal	I Order: 001		Contract:	E8T13-R0	
	No / Item ID /	Alternate	Quantity Units	(4) ROAD RUNN TECHNOLO		(5) AKC	A, LLC		ONTRACTING, LC
() ina	licates item is bid as Lu	mp Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	SECTION: 0001	(PA	VEMENT S	TRIPING (LARGE	MACHINE) (LM				
	0710 11331 D PAVEMENT MAR ARD,BLACK, SKIP, 6		10.000 GM	700.00000	7,000.00	810.00000	8,100.00	1,000.00000	10,000.00
	0711 11102 OPLASTIC, STANDA 8" FOR INTERCHAN ISLAND		0.500 GM	4,900.00000	2,450.00	8,000.00000	4,000.00	6,000.00000	3,000.00
	0711 11123 OPLASTIC, STANDA 12" FOR CROSSWA ABOUT		500.000 LF	1.80000	900.00	5.00000	2,500.00	5.00000	2,500.00
	0711 11124 OPLASTIC, STANDA 18" FOR DIAGONAL ONS	RD, WHITE,	2,000.000 LF	2.80000	5,600.00	6.00000	12,000.00	7.50000	15,000.00
	0711 11125 OPLASTIC, STANDA 24" FOR STOP LINE WALK		200.000 LF	4.00000	800.00	8.00000	1,600.00	10.00000	2,000.00
	0711 11160 OPLASTIC, STANDA GE OR SYMBOL	NRD, WHITE,	30.000 EA	100.00000	3,000.00	160.00000	4,800.00	300.00000	9,000.00
0035 THERMO ARROW	0711 11170 OPLASTIC, STANDA /	NRD, WHITE,	40.000 EA	50.00000	2,000.00	80.00000	3,200.00	150.00000	6,000.00



05/25/2021

Tabulation of Bids

Page 5 of 7

Letting: 08210511 May	/ 11, 2021	Cal	l Order: 001		Contract:	E8T13-R0	
Line No / Item ID Alternate Item Description	Quantity Units	(4) ROAD RUNN TECHNOLO		(5) AKC	A, LLC	(6) MCSHEA C LL	
() indicates item is bid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 (PA	VEMENT S	TRIPING (LARGE	MACHINE) (LM				
0040 0711 14560 THERMOPLASTIC, PREFORMED, WHITE WITH BLACK CONTRAST ON CONCRETE PAVEMENT, MESSAGE OF SYMBOL	10.000 EA	1,700.00000	17,000.00	700.00000	7,000.00	700.00000	7,000.00
0045 0711 15101 THERMOPLASTIC, STANDARD-OPEN GRADED ASPHALT SURFACES WHITE SOLID, 6"	30.000 GM	4,100.00000	123,000.00	5,500.00000	165,000.00	5,000.00000	150,000.00
0050 0711 15131 THERMOPLASTIC, STANDARD-OPEN GRADED ASPHALT SURFACES, WHITE SKIP, 6",10-30 SKIP OR 3-9 LANE DROP		1,650.00000	132,000.00	1,700.00000	136,000.00	3,500.00000	280,000.00
0055 0711 15201 THERMOPLASTIC, STANDARD-OPEN GRADED ASPHALT SURFACES, YELLOW, SOLID, 6"	30.000 GM	4,100.00000	123,000.00	5,500.00000	165,000.00	5,000.00000	150,000.00
0060 0711 15231 THERMOPLASTIC, STANDARD-OPEN GRADED ASPHALT SURFACES, YELLOW, SKIP, 6"	2.000 GM	1,650.00000	3,300.00	1,700.00000	3,400.00	3,500.00000	7,000.00
0065 0711 17 1 THERMOPLASTIC, REMOVE EXISTING THERMOPLASTIC PAVEMENT MARKINGS- SURFACE TO REMAIN	1,000.000 SF	1.80000	1,800.00	6.00000	6,000.00	2.00000	2,000.00
0070 E102 10 OFF-DUTY LAW ENFORCEMENT OFFICER	320.000 MH	40.00000	12,800.00	120.00000	38,400.00	75.00000	24,000.00



Tabulation of Bids

Page 6 of 7

Letting:	08210511	May 11, 2021	Ca	all Order: 001		Contract:	E8T13-R0	
Line No / Item Item Descript		te Quantity Units		INER STRIPING OGIES INC.	(5) AK(CA, LLC	(6) MCSHEA	CONTRACTING, LLC
() indicates iten	m is bid as Lump Sun		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	ON: 0001	(PAVEMENT S	TRIPING (LARGE	E MACHINE) (LM				
	MENT STRIPING MACHINE) (LM)	Section Totals:		\$434,650.00		\$557,000.00		\$667,500.00

\$434,650.00

\$557,000.00

667,500.00



			Tabulation of Bids			Page 7 of 7
Letting:	08210511	May 11, 2021	Call Order: 001	Contract:	E8T13-R0	
		NOTE: Failu	re to file a protest within the time pre	scribed in section		

120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.



Low Bid Item Analysis

Page 1 of 3

Low Bidder:	TRP CONSTRUCTION GROUP, LLC		
Letting:	08210511 May 11, 2021 02:30 PM	Call Order: 001	Contract: E8T13-R0
District:	Turnpike	Counties: BROWARD, MIAMI-DADE,	
Contract Time:	365 CALENDAR DAYS	PALM BEACH, TURNPIKE	Project(s): 40585037202 (*

Contract Descr: PAVEMENT MARKINGS - ZONE 1

The work specified in this contract consists of providing all labor, materials, equipment and incidentals necessary to provide thermoplastic pavement markings at various locations on Homestead Extension of Florida's Turnpike (SR 821), Milepost (MP) 0.0 to 46.5; Florida's Turnpike (SR 91), MP 0.0X to 100.0, and Sawgrass Expressway (SR 869), MP 0.0 to 22.5.

Prior to beginning work under this Contract, the Contractor shall submit to the Engineer for approval, two copies of the Contractor's proposed plan and methods for performing the work, including a listing of equipment and personnel anticipated for use.

No U-turns shall be permitted as a condition of this Contract, except at Service Plazas.

The Contractor shall perform all work night hours in accordance with the Turnpike Lane Closure Policy.

Night work shall be performed between the hours of 9:00 PM to 5:00 AM, Monday through 5:00 AM Friday.

NO PRE-BID CONFERENCE WILL BE HELD FOR THIS PROJECT.

CONTRACTOR EXPERIENCE DOCUMENTATION: Expertise and Experience is required in the performance of Pavement Markings. The Experience in Pavement Markings form (850-070-06) must be filled out and submitted with the bid to be reviewed by the Department. If a Contractor is presently prequalified with the Department in pavement marking, it is not necessary to submit the form.

Line	Item/ Description	Quantity	Estimated Price	Bid Price/ Units	Estimated Amount	Bid Amount	Bid Est %	Overrun (+) Underrun (-)	
	SECTION 0001 (PAVEMENT STRIPING (LARGE MACHINE) (LM								
0005	0710 11331	10.000	950.00000	600.00000	9,500.00	6,000.00	63.16%	-3,500.00	
	PAINTED PAVEM STANDARD,BLAC		θS,	GM					
0010	0711 11102	0.500	8,000.00000	4,300.00000	4,000.00	2,150.00	53.75%	-1,850.00	
	THERMOPLASTIC 8" FOR INTERCH			GM					
0015	0711 11123	500.000	3.10000	2.50000	1,550.00	1,250.00	80.65%	-300.00	
	THERMOPLASTIC	, ,	, ,	LF					



Low Bid Item Analysis

Page 2 of 3

Low Bidder: TRP CONSTRUCTION GROUP, LLC									
Letting	g: 08210	511 May 11,	2021 02:30 PM	Call Order: 0	01	Contract:	E8T13-F	RO	
Line	Item/ Description	Quantity	Estimated Price	Bid Price/ Units	Estimated Amount	Bid Amount	Bid Est %	Overrun (+) Underrun (-)	
	SECTION 0001 (PAVEMENT STRIPING (LARGE MACHINE) (LM								
0020	0711 11124	2,000.000	4.60000	4.00000	9,200.00	8,000.00	86.96%	-1,200.00	
	THERMOPLASTIC, STANDARD, WHITE, SOLID, LF 18" FOR DIAGONALS AND CHEVRONS								
0025	0711 11125	200.000	6.50000	5.50000	1,300.00	1,100.00	84.62%	-200.00	
	THERMOPLASTIC, STANDARD, WHITE, SOLID, LF 24" FOR STOP LINE AND CROSSWALK								
0030	0711 11160	30.000	145.00000	110.00000	4,350.00	3,300.00	75.86%	-1,050.00	
	THERMOPLASTIC, STANDARD, WHITE, EA MESSAGE OR SYMBOL								
0035	0711 11170	40.000	90.00000	68.00000	3,600.00	2,720.00	75.56%	-880.00	
	THERMOPLASTIC	C, STANDARD,	WHITE, ARROW	EA					
0040	0711 14560	10.000	280.00000	800.0000	2,800.00	8,000.00	285.71%	5,200.00	
	THERMOPLASTIC, PREFORMED, WHITE WITH EA BLACK CONTRAST ON CONCRETE PAVEMENT, MESSAGE OR SYMBOL								
0045	0711 15101	30.000	4,650.00000	3,300.00000	139,500.00	99,000.00	70.97%	-40,500.00	
	THERMOPLASTIC, STANDARD-OPEN GRADED GM ASPHALT SURFACES WHITE, SOLID, 6"								
0050	0711 15131	80.000	1,700.00000	1,150.00000	136,000.00	92,000.00	67.65%	-44,000.00	
	THERMOPLASTIC ASPHALT SURFA SKIP OR 3-9 LANI	ČES, WHITE, S		GM					
0055	0711 15201	30.000	4,700.00000	3,300.00000	141,000.00	99,000.00	70.21%	-42,000.00	
	THERMOPLASTIC ASPHALT SURFA			GM					



Low Bid Item Analysis

Page 3 of 3

Low B	idder: TRP CO	ONSTRUCTIO	N GROUP, LLC					
Letting	g: 082105	11 May 11,	2021 02:30 PM	Call Order: 0	01	Contract:	E8T13-R	.0
Line	Item/ Description	Quantity	Estimated Price	Bid Price/ Units	Estimated Amount	Bid Amount	Bid Est %	Overrun (+) Underrun (-)
	SECTION 0001	(PAVE	MENT STRIPING (LA	RGE MACHINE)	(LM			
0060	0711 15231	2.000	1,780.00000	1,000.00000	3,560.00	2,000.00	56.18%	-1,560.00
	THERMOPLASTIC ASPHALT SURFAC	,		GM				
0065	0711 17 1	1,000.000	2.65000	1.47000	2,650.00	1,470.00	55.47%	-1,180.00
	THERMOPLASTIC THERMOPLASTIC SURFACE TO REM	PAVEMENT M		SF				
0070	E102 10	320.000	60.00000	100.00000	19,200.00	32,000.00	166.67%	12,800.00
	OFF-DUTY LAW E	NFORCEMENT	OFFICER	MH				
	0001 PAVEMENT STRIPING (LARGE MACHINE) Section Totals: (LM)				\$478,210.00	\$357,990.00	74.86%	-\$120,220.00
Contract Total for Low Bidder:					\$478,210.00	\$357,990.00	74.86%	-\$120,220.00

() indicates item is bid as Lump Sum